e 20224F (5704 %) ~2024%F (S 6%F) T4
Sk A A 4R 4R B A A EAN EA

—————————— <& 8B- <X E - | E: - <& B | B E: - | - |—<¥E: - | E - | ———<HE: -
0 £H 98,146 |£E 79,576 | £E 50,544 |£E 21,709 |£EF 5861 |2HF 33,286 |£EH 22058 |£F 18,321 | £H 18,236
138 115,313 3R 96,430 | KBt 58,130 |i&th 36,465 |¥RTH 8,732 |#iETH 38,033 |#FhiET™ 27252 | K&Hth 22590 |REARTH 23,158
2| KB 113,359 | KPR 95476 |REARTH 57,729 &R 34543 | K 8555 |f@B&Th 37,060 |HHAERTH 25278 |f&[H 22501 | Ko 23,109
3| RART 112,380 |m&RTH 95046 | K&Hmh 56,799 |[Z=BEm 33909 |Z=BMH 8,268 |SL\=FmH 36,802 & 25276 |REATH 21,906 ERE™ 21,650
4 EZBHh 110931 ERt 93,757 |¥AITH 54,690 |MFETH 33,653 |#uth 8235 |HEARXER| 36,718 |#LiRtH 24688 |[ERET™ 21,889 |f&[E™H 21,532
5/ fPFTH 110,180 |#FTh 93543 |[LETH 54,467 |F0ZxIUth 33,135 |[db AT 8,086 |;EtiTH 36,438 |ERE™H 24,396 |EERTH 21,377 | K 21,500
6| Koh 109,534 | KHoth 91,606 |{E&T™H 54,310 | KBxth 32582 |FHE&T™H 7,924 |[MEFEET 36,327 |E#ATH 23,963 | KBt 21,154 |#8TH 21,374
71\ KEH 108,911 |BEAT 90,144 |LFzth 53571 | K:ETH 30,616 |LufzTh 7919 |#EETH 36,230 |®kET™ 23821 |t 20,728 |[{4EE™™ 21,023
8| REARTH 108,531 | K& 89,912 |f&fmh 53,454 |i&Th 30,182 |lu@Th 7,909 ®KET 35,959 |lufzth 23,784 | K;ETH 20,528 |=&TH 20,657
9/[LE™ 106,670 |F0FRLLTH 88,910 [T 53,256 |lLOTH 28,655 |f&fETH 7585 |E%RETH 35509 |ELVf=FT 23722 =BT 20,466 |IEETH 20,066
10| LRz TH 106,406 |[5ETH 87875 |IRETH 53,209 | K&Hh 28,403 |F0FRLLTH 7516 |UzTH 35030 |&H&HFH 23475 |EIGTH 20,458 | K:EM 19,942
1130k 104,580 |#2RT™ 87,098 |SLVf=Fmh 52,974 |db TR 28244 |[LB™ 7,498 | #LiRTH 34,691 |#EET™ 23,133 |fHETH 20,288 |[@LUTH 19,874
12| BRARXER| 104,240 |BREHABXER 85068 |ZRmM 52949 |[LETH 28,096 |fHFETH 7,401 |JI|i&TH 34,662 |EE[TH 23,037 |[{EBTH 20,195 |[LE&™H 19,871
13| faf ™ 103,550 |[lLAT 85,021 |HHEETH 52,900 |#AlH 26,942 |;EmH 7,379 BT 34,257 |l 22,924 |\¥ATTH 20,117 |H&™™H 19,683
14 103,119 |;&th 84,789 |&th 52,878 |fEfE™™H 26,080 | K&Hm 7378 &Rt 33,948 |®iRm 22,685 |dbAThH 19657 =Rt 19,533
154K 102,996 | 84,675 |EI&T™ 51,798 |fEET™ 25999 | X:i#EMW 7,303 [fiETH 33,797 L& 22616 |lLOTH 19,617 |de Rt 19,435
16/ lLAH 102,792 |lLUfizth 84,359 |Ei&FTH 51,688 |[{fEET™ 25868 |[{4EE™ 7,162 R 33603 |HEHRXER| 22357 |[LET™H 19,571 |4LiRTH 19,306
1725 EM 102,695 |dbAMTh 84,256 | KiET 51597 |REARTH 25465 BT 7108 |HFFTH 33517 |IEETH 22302 |EHEHEIXER| 19412 |3Rth 19,253
18| Ki&™H 102,155 |{£&H 83,996 |fLiEmh 51,554 |Llufzth 25422 |REXRTH 7,000 |FEH 33367 |RK¥FTH 22,264 3Rt 19,379 |[fFT™ 18,938
19{&&H 101,529 | RI&GH 83,817 ¥l 51,485 |E#tH 25,036 |t 6,657 | BH&HM 33320 |BEEM™ 22204 | RIGTH 19,083 |AHEMT 18,917
20 AL AL 101,006 |#&ET™ 83,618 |#FhiEm™ 51,481 AHEM 24926 &Rt 6,549 BEET 33253 |EWUT 22,187 |BEH 18979 | RI&™ 18,875
21 [ 100,288 EERET™ 83,198 |#ETh 51,448 | RIGTH 24,066 |Ex0TH 6,470 |[ERET™ 32875 |HF™H 22173 | &LV=FmW 18912 |BEHmM 18,842
22 =BT 99611 | AHET 82871 |[ERBEMW 51211 |$8FtH 23,744 |f8HT™H 6,469 | KBxth 32829 |FEMH 21913 |fEET™ 18,659 |lLAT 18,813
23| BRET 99,004 |#AlTh 82556 |BHET™ 51,096 |= &t 23588 |fEE™ 6,184 3Rt 32,724 |#¥iITH 21544 | BEHETH 18,569 |FnFrLth 18,749
24 3 lUth 98,362 |El&Th 81,726 ;& 50,942 |#EETH 22,929 |BETH 6,184 |EERATH 32516 | X%t 21,494 |¥EETH 18,550 |ELV=FH 18,676
25 fRIEET 97,749 |fEETH 80,336 &R 50,905 | HER#XER| 22,768 |EiUE™ 6,063 | KEmT 32506 | XFrt 21,419  |F0grUTH 18,483 |iEm 18,625
26| &R 97,341 |&¥th 79,804 |dbAumth 50,878 |\ E%0th 22,641 |HEERXER 6,038 =BT 32,480 |REARTH 21,096 |)I|I&H 18,457 |#H#E[RT™ 18,329
27 &LV =FTH 96,882 &Rt 79,064 |F#ERTH 50,818 | 21,906 |Ei&tH 6,035 |Ri&m 32215 |[4EEW™ 21,007 E#¥ATH 18,397 |#XHT™ 18,098
28| )115TH 96,153 |SLVi=FmH 78,390 | BHET 50,669 |&£iRth 21,691 |#&ETH 6,019 |#ETH 32211 | 20,985 |;ETH 18,370 |E#MATH 18,086
29 ElluTh 96,024 |¥AiITH 78,222 |\HEHMXER 50,179 |[EIRET 21523 |#’EE™H 6,008 |KHnth 32,191 |FH#E™ 20,921 |FEmH 18,303 L& 17,964
30| =t 95,777 |BEH 77,902 |F#RETH 50,113 |IKETH 20,588 |#NiTTH 5832 |F#&RTH 32,011 |i#wHh 20,732 |kLiRH 18,243 |HREHBXER 17,738
31| B 95571 |HEtERTH 77,363 | FESH 49,661 |BHtH 20,104 |FESH 5790 |[LB&TH 31,839 |Ri#B™H 20,699 |IETH 18213 |FE™ 17,729
32| WiIth 95,380 |JI|ItH 76,695 |FkEHTH 49495 |FEMW 20,096 |[AEHEM™ 5787 |FH#E™ 31,780 |[ERBEW™ 20,644 | S50t 18,098 |E2ETH 17,696
B EET 95177 |FEH 76,684 |JIIIGTH 49476 |EUTH 19,756 |E LU 5680 |K;ET 31,606 |RKi&m™H 20,420 |\E#TH 18,021 |#&ET 17,679
34 BT 95,159 | &%t 76,517 |;E¥ATH 49447 |¥ITh 19614 |SULNM=Fm™H 5531 |IBEETH 31,590 |#¥Alum 20,325 |fBIEETH 18,014 |t 17,624
35 FFEH 95,134 |IKETH 76,371 |#0FLth 49,383 |JI|i&vH 18,118 |#B#&[R™H 5492 |HEARTH 31,493 |BEtH 20,316 | E%[EH 17,949 |$rimm™ 17,500
36 FRRETH 94627 |EUTH 76,015 |#ETH 49312 |fH¥E[RT™ 17672 |IxET™ 5226 |fEfE™TH 31282 |[LB&TH 20,315 |#@ATH 17,490 |l 17,500
37 f&HT 93917 |FR[™H 75,227 |lu@Th 49246 |SULNf=FETH 17142 |FFH™ 4928 |BHEWH 31,228 |#REEm™ 20,269 |#AUTH 17424 |f5EET™ 17,455
38 BHEM 93,035 |fBHH 73940 L& 48,709 |FH#RETH 16588 EREM™ 4910 |#xluvh 31,065 |ZBmwW 20,260 |{i&ETH 17,385 |LLUfizth 17,453
39| BT 92,640 |;EATH 72,212 |Etah 48,389 |E%¢RE™H 16,099 |J1li&TH 4,848 =& 30,992 |=EiETH 20,164 |Lfzth 17,331 |#3umh 17,336
40 #L1RH 92,635 |#LWRtH 71,790 |H&HFH 48,146 | FHFH™H 15,393 |§% @™ 4540 |#¥iIth 30,942 |f&fE™H 20,045 |HHH 16,942 |50 16,888
M\ Ex0h 91,340 |#ATH 70,882 |ELUTH 47455 |BRE@TH 15,386 |ALIRTH 4336 |{EET™H 30,738 | KiEM 19,939 |&R™ 16,779 |F#H™ 16,548
42 e 89,682 | H&HH 70,663 |FRE;RTH 47052 |BFFH 15125 |BRF 4241 FoFrU™h 30,712 3Rt 19,928 |f8HT™H 16,253 |BRfF 16,363
43 FRETH 89,335 |HFTH 70,228 |&%0tH 46,763 |FHETH 13,286 |[lET™ 4221 |JKPT™H 30554 |KETH 19,906 | Friam 16,239 |&iRt 16,356
44 it 88,628 [i&Th 69,769 |FFFTH 46,246 L&ETH 13,068 |FHE=ETH 4115 ;& 30,395 |FHE#&RTH 19,463 |EfFH 16,055 |E%[MTH 15,834
45 B FFTH 88,507 |#riBTh 69,144 |fEETH 45,908 |JKFETH 12926 |f2BT 4086 |RitET™ 29936 |F0FLTH 19,036 |FHETM™ 15,865 |BBE™H 15,806
46 FENE T 86,585 |F&#E™ 68,555 |BX[ETH 45438 |;EWTH 12,818 [;E#ATH 4039 |luOT 29500 |[fHETH 18,987 |BEREATH 15,725 |ELUH 15,516
47 @B 86,520 |fEB&T™ 67576 |fEE™ 45269 |f2@BT™ 12,139 |JKFET 3,983 |FEFHmT 29,357 |EtTh 18,364 |ELUTH 15,638 |FH#E=ETH 15,474
48 | AR EATH 83414 |FRE;Eh 65,884 |{EFHTH 43,739 |fLiRTH 12,084 |#XHTH 3967 |&SaTh 29,124 |db oM™ 18,092 |BRE;TH 15,168 |f@Hm™ 15,469
49 | BE[E 83,391 |BERATH 63,495 |RE¥rth 43159 KW 11,931 | B¥H 3,381 |fEE™ 28,740 |WuOvh 18,026 |JKPETH 14543 |HifE™ 14,857
50 REFth 80441 R 62,057 |F&#ETH 42500 BB 11,568 | BT 3,360 | deAmth 28514 | S&0th 18018 |f2B&m 14,497 | EH™ 14,351
51Kt 78,853 [JKETH 61,586 |/KETH 41,206 |\#FhiE™ 11,136 | 3,359 |&4%0th 28,056 |f@FH ™ 17,634 |HiHE™ 14465 |JKFET 14,084
52 | BiItE™ 77,494 HiI¥BTH 60,013 |RI#B™H 41,199 B[t 10,622 |HitE™ 3077 |f&HTH 27377 |fEB™™ 17,220 | R¥H 13488 |f2@ETH 13,729
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JESE) 3,120 |£H 2264 |2EF 3,140 |£H 1578 |£H 18570 |£H 4733 |&F 2,369 |£E 7,868 | &[F 5,324

1| E&H 4940 [T 3,497 |EEAXTH 6,344 |REKTH 2638 |BHF™ 22371 |#EETH 5875 |fEIEETH 3091 | H&HM 9558 |BH&HF™ 6,373

2 REARTH 4937 |RI&T™H 3,487 |#LiRtHh 5004 |LLfzth 2,489 |lufzthH 22,047 | K:ETH 5807 |IEETH 2,999 |;E¥ATH 8,952 |Wufzth 6,194

3 KHh 4846 |BEMH 3,484 |lUFsthH 4836 |[LETH 2,452 |#LiRtH 20,844 |BHET™ 5729 |iRth 2,906 |UFTH 8,944 |;E¥ATh 6,145

4\ 4829 |REKTH 3474 |XKBRth 4569 |[E#HFT 2,174 |;E¥aTH 20,428 |fHIE[ETH 5668 |ZHET 2,716 |#L1R™H 8,791 |#hi\Em™ 5,937

5 B Hh 4754 | KHmH 3,267 |dbATh 4,194 |AREETH 2,127 |[fE#EETH 20,386 |EHIRARXER 5557 | K;ETH 2,692 |Eluth 8,787 |EWuth 5,929

6| =™ 4359 | KFrm 3,179 |]&th 4137 |El&TH 2117 |EWmh 20,008 |IEETH 5,551 |#&/ETh 2686 BEET 8,598 |#LiEvh 5,925

7 KB 4342 |¥MIth 3,160 |[EET™ 4127 | KRt 2090 |f&HFTH 19,978 |3Rth 5523 |fBFTH 2,636 ;Em 8,374 |EHTH 5,875

8 ERE™ 4255 |&iRt™H 3,144 & 3,887 [lEth 2071 [i&ETH 19913 |#Fm 5286 |EHZM 2573 | tHEET 8,372 | 5,790

9/[LE™ 4242 |EX™ 3,119 |E#th 3,867 |#Ith 2,069 |EE[TH 19,896 |FRERTH 5252 |#hiEamh 2,566 |BEH 8,360 |AEHET™ 5,789
10| KiEH 4239 |\[LET™ 3115 |&HHH 3,787 |db T 2050 |[BEHET 19,825 |;EfATH 5242 |JKETH 2,554 BT 8,332 |IEETH 5,755
1T 4234 | KiEth 2937 |[#FTH 3,767 |#LiEth 2017 |#FhiBH 19,484 |)II&TH 5187 |f@B&Th 2539 [LBTH 8,291 |EE[TH 5,711
12|&R™H 4,150 |#alumh 2,920 |RELTH 3,609 |Etath 1,907 |JIlI&TH 19,459 |FEm 5118 |FEH 2528 |f&FHT™H 8,288 |#\iTTh 5,707
13 FZB™H 4140 |IEBRT 2908 |K&HtH 3575 |EE[th 1,867 &R 19,400 |KFET 5055 |[LE&TH 2526 |FAHETH 8274 |fE{EIETH 5,692
14| UH 4078 =B 2874 |tERE™H 3558 |[EREM™ 1,816 |#Em 19,379 |[LE&T 4989 |;E¥ATH 2522 |EE[Eth 8249 |feHm™ 5,563
15| fEE™ 3990 EIRETT 2,852 | Ri&™H 3513 |[Eurh 1,749 |IxETH 19,199 |#2Em 4,984 |BERET™H 2517 |IEEBH 8,141 |fx@AT™H 5,559
16/ lLAH 3968 |EUmh 2,843 |f@H™ 3399 |{£EE™™ 1,748 |BREARXER| 19,173 R 4977 |[{4EE™ 2507 L& 8,138 |REARTH 5,528
17| &R 3951 |AEHE™ 2833 |&E%0th 3,363 | K&t 1,730 | KiZE™H 19,000 |FHETH 4951 |EEf™H 2,505 |ERRETH 8,137 |XK:iETH 5,484
18£8 3846 |fEETH 2,806 BT 3,348 | #MATH 1,691 |{EE™ 18,944 |{k&Em™ 4924 |lufzthH 2,493 |REARTH 8,052 |RI&T™ 5,464
19| Z U 3841 k& 2,737 |BERTH 3,327 |f#FTH 1,690 [$&Rh 18,882 | ETH 4,883 |ElUm 2,486 |ERFFTH 8,026 & 5,418
208 HET 3,765 |=#ath 2,718 |#Ith 3,316 |#xuth 1,689 |[ETH 18,795 |f8Hm 4,858 |BIR#ERXER 2,455 |lLOTH 7978 |E&RE™H 5,387
21| 5w 3,758 |FH#&RTH 2,668 | FIFRLTH 3,308 |3Rth 1,637 |[SLN=FH 18,492 |ELV=FMh 4,844 |)IigTH 2432 |ELZ=FTH 7,961 | KBRtH 5,383
22|3RtH 3,725 |#]&th 2,651 |[lUAOH 3281 |HfFH 1,631 |#vETTH 18453 |ELUTH 4828 |Etath 2429 | KiEMH 7,960 |lLOH 5,338
23 &R 3,676 |FIFxILTH 2,618 |FH&RT 3,164 |f&FHTH 1,610 |FEm 18450 |E=R™ 4,820 |F0FRLLTH 2417 | Ri&t™H 7,947 | )IGTH 5,268
24| Bl&T™H 3666 |lLOTH 2,566 |#AUTH 3048 | KHth 1,591 |REXRTH 18,387 |&RET™H 4802 | EHt 2403 E®Hmh 7915 |[LE™H 5,245
25/ LT 3,647 |#EETh 2541 BT 3032 ¥rET™H 1,571 | EHH 18,385 |&iRth 4,780 |ELV=FETH 2,348 |JII&GTH 7837 |EWV=FEWH 5,238
26 MHETH 3,623 |ElFTH 2531 |EEH 3022 |lLuATh 1557 |RI&H 18,338 |Hi#ET™ 4752 |&iRt 2341 |&RtH 7,807 |3Rth 5,206
27| B 3568 |fHFTH 2453 |fEE™T 2,948 | E&Ith 1552 |i#&mh 18,330 |BEREATH 4,740 |RiI&™™H 2,337 |FHEET 7,799 | K&Hth 5,178
28 t&ETh 3501 |FRE;Em 2451 |XKiZETH 2923 |FEM™ 1,503 |ERfFm 18,279 |dtAuth 4687 |[ET™H 2,328 | KFrth 7,783 |HFFTH 5,125
29| R AR X &R 3440 ;EMh 2440 |BETH 2,837 | 0Frlth 1482 |&R™ 18,277 |lLUfsth 4595 |#WPT™H 2,323 | KHh 7698 |FHETH 5113
30;&m™ 3422 |f@FHT™ 2,363 |#EmET 2826 |BEH 1481 |F#=TH 18,030 |fiET 4550 |@I#ETH 2,317 | ITH 7,671 |RELLTH 5,079
31| F 0 3272 |dtAhThH 2,362 |ERRE™H 2,763 |IEEBTH 1441 | K& 17,928 | &F&HF™ 4541 |FEET™H 2,283 |&th 7514 |&iRtH 5,062
32|t@H™H 3,166 |JI|I&TH 2340 =BT 2,762 | SLM=FEW 1,418 |EI&H 17,885 |Ri&m 4532 | KRt 2274 |Z=BTH 74711 | E¥H 5,044
33| ARE;m™ 3,146 |fEf™TH 2,330 BB 2,740 E¥mh 1,416 | KR 17,882 | KBrth 4503 [iEm 2,273 |}EETH 7423 |=&H 5,029
34|)Ii&TH 3,087 |tH¥ERT™ 2,321 |HEEHARXER 2,730 |E&[@tH 1,376 |[luAm™ 17,771 | F0F Lt 4463 |Z=B™ 2270 | FEH 7420 2Bt 5,022
35| &LV=Fh 3,038 | HEHXER 2,258 |fRETH 2,697 |fRRH 1,374 [EEmH 17,533 #riEth 4,461 |t 2,248 | JKETH 7393 |[ZEB™H 4,910
36 | HHIR[R T 2965 |SLV=FEW 2229 |ERET™ 2,656 |JIIITH 1,354 |BRZE@T™H 17,531 |BfFH 4455 |dLhINTH 2,236 |Ei&ETH 7,391 [dbAmh 4,906
37 FFRE™H 2,907 |;E¥ATH 2,108 |EH 2523 |tEERET 1,340 |RifE™ 17482 | 4,391 |FH#&RTH 2232 @Bt 7,308 | F0FxLm 4,873
38R 2,846 ERE™H 2,064 |ELV-FTH 2497 ERW 1,312 |R#RTH 17,334 | f2fm™H 4322 |lLAH 2,137 | RIRHXEB 7,260 |#EETH 4,855
39| FE™H 2678 |FEH 2,010 |#RHh 2,496 |JKPET™H 1,307 |JKFET™ 17,267 |lLuAw 4,287 |BEARTH 2,136 |HitB™H 7244 |JKETH 4,821
40 B FFTH 2,499 |BFFTH 1,795 |iEtH 2420 |HEHXER 1,283 |EWT™ 17,257 |HEARTH 4,180 |#ATH 2,135 |Elth 7177 |FEH 4814
M| EFHH 2137 | EH™H 1539 |FHETH 2418 @B 1265 =B 17,174  #Uth 4113 |BFFH 2,123 | Bt 6,951 |#lth 4,791
42 BitE™ 1,940 BB 1,408 |IFETH 2413 &Rt 1,259 [T 17,157 ¥ ITH 4099 |#LiEvh 2,103 ¥ lth 6,935 |RIkETH 4710
43| FEBE T 1,903 FHETM™ 1,310 |#EmH 2,407 |HERTH 1,257 |[dbAiNth 16,750 | K9t 4,081 |#luth 2,085 |fEfH 6,906 |f&[TH 4,624
44 | FLIETH 1,769 |#LiETH 1,242 |#A¥E[RTH 2,384 |;ETH 1,202 |[#FT™H 16,637 |ALIRTH 4065 |EiETH 2,084 |FnFrLTH 6,892 [ERBEW™ 4,599
45| LUz Th 1,741 |JKFE™ 1,226 |JII&TH 2371 |fEET™ 1,202 |f2[EmH 16,453 |FXHEHTH 4010 | K%t 2069 |ERET™ 6,881 |R#&RT™ 4,582
46 JKETH 1,719 Ql&E™™ 1,200 [ AHE™ 2,358 |#EETH 1,144 |5t 15973 | =& 3976 |BEH 2,037 |FH#&RTH 6,824 |fEET™ 4,559
47 LETH 1,632 WL 1,109 |#iBm™ 2,290 |HiitETH 1,109 |[#luh 15,806 |EHT™H 3,960 |#NTTH 2017 [ dehmth 6,793 |E&TH 4,545
48| FAETH 1,450 |$iiBm 1,000 |FEmH 2,241 | K 1,101 |[ERBE™ 15805 |[EERET™ 3823 |ERBET™ 1,909 [{EEH 6,741 |HRFHRX AR 4,463
49 F:BH 1446 |FHET 978 |HiItE™ 2,104 |EUth 1,057 |f0grluth 15671 |fEETH 3,673 |[Luth 1,774 |5 6,694 |[{4EET™H 4,430
50 B[ 1,307 |BERET™H 936 | EF 1,996 |;EHATH 1,002 |ELm 15,613 |ELUT™ 3598 |fEETH 1,774 |#FT™H 6,639 |ETH 4,413
51 & &% 1,222 |&F&HFT 838 |JKET 1,843 FHETH 910 |fEET™H 14,840 |&4%0TH 3537 |&%ItH 1,734 |fEET™ 6,634 |BREmTH 4,305
52|f@ETh 1,140 [f2BT 789 |EWATH 1,713 | 2HEwM 901 |&%0mHh 14,823 |BRE;RT™ 2831 |FE;E™H 1,571 | BRERT™H 5988 |fFETH 4,280
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WESES 2576 |2[E 1454 |2F 3,394
1|z th 3548 |lLfzth 2,194 |FEF;mH 6,141
2| BT 3,105 |tH¥ERET™ 1,843 |#LIRTH 5,225
I BHM 3091 |faBEth 1,826 |H&HFM 5,182
AfgE™H 3,066 |FriET 1,811 |[lLUfgTh 4,960
5 $imm™ 3049 |[FFHH 1,806 |f@HTh 4521
6| fRIZ[R T 3,009 |F:Mth 1,775 & 4,507
I 2,989 |BRZEETh 1,740 |EERET™ 4,230
8| )l 2,983 | ALMRTH 1,699 |E&H 4175
9| RRAX &R 2,930 [EtATH 1,678 |t 3,641
10| EARTH 2918 |JIIGTH 1,667 | Ko 3,604
11 EM™ 2876 =L 1,656 |[f2Em 3,586
12| FEmH 2871 |REKTH 1,645 | KR 3,529
13|#EmH 2,866 |[l&ETH 1,629 |{&&m™ 3,509
14 EHH 2,823 |®#HATH 1,596  |JI[I&TH 3,452
15| FEH 2,786 |FEMH 1,556 |REABXER 3,426
16 Ki&™ 2,773 |&iRtH 1,529 |EWUmH 3,405
17 4L H 2,764 |FREARXER 1,522 |®#kE™ 3,384
18/l E™H 2718 |IKETH 1,521 [;E¥ATH 3,358
19| B 2677 |SLM=FEW 1,512 |#%REmH 3,357
20| &LV=FET 2,625 |BEMtH 1,506 |fB¥E[RTH 3,337
21 EBh 2,623 | Eil&tH 1,506 3Rt 3,289
22 BEFTH 2585 |K:iEM 1,486 |BEAT 3,237
23 A EETH 2571 | KHh 1,480 |#Em 3,214
24/ lLAT™H 2564 |#¥iIth 1,473 |BRfFT 3,213
2538t 2556 |lLOT 1,458 ;& 3,209
26| %&R™ 2554 | KEtH 1,453 |Bi#ET™ 3,160
27\ Ko 2,545 |t 1436 |IKETH 3,152
28| FE =™ 2514 |¥EETH 1,431 |[GET 3,142
29 B HET 2505 3Rt 1,430 |&RT 3,137
30 fE L 2491 |F#=TH 1,416 | R 3,086
31 #iIh 2462 |[{EET™H 1,402 |ELN=FH 3,063
32 B 2443 |AEHET 1,389 |FEm 3,042
33/ b T 2414 |BEH 1,379 |2 ET 2,993
34 fERE™H 2,403 |db AN 1,379 |[luAt 2,942
35 AT 2,380 |iEth 1,374 |[#ITH 2,925
36|[LET 2374 B@E™H 1,370 |ZE#R™ 2,906
37|kKFth 2,366 |El&FTH 1,367 | KiEMH 2,871
38| KiEMH 2362 =BT 1,363 |#alUth 2,867
9 EETH 2,359 |fEHTH 1,358 |dbAuinmh 2,857
40 ;Em™ 2357 |[LE™ 1,356 |t 2,821
M I B h 2,355 |f&fth 1,285 |FHETH 2,765
42 RERTH 2,352 |JKETH 1283 |[E\RET™ 2,760
43| E&™H 2343 |ERET™ 1,269 |R¥mH 2,670
4 BERET 2,341 |RERTH 1,253 |EWT™H 2,494
45 RiItE™ 2,325 |HiitET™H 1,248 |JKPETH 2,452
46 f@FHH 2,310 | St 1,236 | =S50 2,451
47 5T 2,186 |METH 1,199 |fEET™ 2,420
48 EETH 2,113 | KBt 1,161 | 2,347
49| Kprh 2067 |fEETH 1,158 |F0gruh 2,338
50| #0FRILTH 1,978 [ #FrLthH 1,096 |#Fm™H 2,333
51 #Uth 1,891  #alumh 1,059 |ERmW 2,259
52 & %nth 1,883 &0 966 |Etath 2,210

20224 (M4 %) ~20244F (HF16F) Fi5



